Probability and Statistics (MATH 1530-017)

Attendance Quiz, April 14, 2009

Pick the letter of the best answer.  The problems are worth 2 points each.
1.  The mean score of adult men on a psychological test that measures “masculine stereotypes” is 4.88.  A researcher studying hotel managers suspects that successful managers score higher than adult men in general.  A random sample of 48 managers of large hotels has mean x = 5.91.  The null hypothesis for the researcher’s test is

(a)  H0: = 4.88
    (b) H0:  =5.91
(c) H0:  > 4.88    (d) Not listed

2.  The researcher’s alternative hypothesis for the test in #1 is

(a)  Ha:  = 5.91        (b)  Ha:  > 4.88

(c)  Ha:  > 5.91          (d) Not listed

